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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Then mark your choice on your answer sheet.

1- Your little brother --—----- to college or thinking of marriage by the time you come back.

1) wall go 2) 1s going 3) will have gone 4) will be going
2- The deficit --------- so large, we will probably have to pay additional taxes.

1) grows 2) is growing 3) had grown 4) was growing
3- I tried to persuade him to join me, but in the end | —--——-.

1) had on 2) give up 3) gave up 4) have back
4- The girl takes ------—- her mother rather than her father.

1) to 2) up 3) before 4) after
5- To get some money from the insurance company, he had had his store -~----- up last year,

1) blew 2) blow 3) blown 4) blowing
6- The telephone lines were --------- when the truck hit the pole.

1) damaged 2) wounded 3) harmed 4) injured
7- Doing a thing over and over again makes it a -—--—-.

1) habit 2) hobby 3) practice 4) performance
8- Make sure you ~—--—- that present carefully or it may get damaged in the post.

1) flourish 2) consume 3) wrap 4) dispatch
9- If you want antibiotics, you’ll have to ask the doctor for a ----—.

1) receipt 2) recipe 3) medicine 4) prescription
10- As you’ve arrived late, you’ll have to ------- the time you have lost.

1) make off with 2) make up for 3) make out 4) make for

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Dear Mr de Oliveira,

Thank you very much for coming to see us in London the day before yesterday. We were very
(—m=11-—) with your interview and would like to offer you the position of Marketing Manager (Antibiotics) for
South America. We would like you to start in three months’ time.

After a one-year (——12—-), we expect to see our market share grow. We are sure you can help us to ( 13——) this.
The starting salary will be $85.000 p.a. plus car and full medical insurance. In the second year, this will rise

to $90,000. You will also receive regular profit shares based on sales (- 14——-) for your area.
If you would like to accept this offer, please contact me at the above address and we will draw up a contract.
I look forward (——15——) from you.

Yours sincerely.

11- 1) impressed 2) surprised 3) interested 4) appreciated
12- 1) date 2) occasion 3) stance 4) period

13- 1) assume 2) succeed 3) achieve 4) perform
14- 1) fipure 2) statistics 3) account 4) number
15- 1) hear 2) to hearing 3) to hear 4) hearing
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Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4).
Then mark it on your answer sheet.

Most generally, employment is the process of devoting human time and energy to production. It
is the labour input to the economy, the performance and organization of work by people in an
economic system. In economics the term is normally used in a restricted sense, to describe the
creation of goods and services that fall within whatever convention is in use to define the National
Product. Economists conventionally exclude unpaid domestic or voluntary services and
remunerated activities such as crime, gambling or prostitution which are not considered
'productive’.

The term employment, strictly speaking, derives from the capitalist and wage-labour mode of
production. On a narrower definition, it refers to the contractual arrangements which bring workers
together with materials and equipment which are not their own property. The term is extended by
analogy to other modes of production to cover self-employment people working in collective
enterprises and — at a stretch — family-based production and other pre-capitalist institutions like
sharecropping.

The corollary of employment being a productive activity is that it entitles the performer to
income-wages in the capitalist mode. Sen (1975) draws attention to these production and income
aspects of the notion of employment, to which he adds a third perspective, that it entitles the worker
to recognition, or self-and social-esteem, as doing something worthwhile. There is thus a threefold
cause for concern if an economy is deemed to have an 'employment problem": production is

unnecessarily low, some incomes are unnecessarily low and some people may be deprived of the
recognition, or status, that employment would give them.

Employment is the process of ———---—- human time and energy to production.

1) applying 2) allocating 3) assigning 4) reserving
Economists do not regard certain ---—---— deeds as ------—--- ;

1) unpaid, productive 2) paid, unfruitful

3) remunerated, unfruitful 4) paid and unpaid, productive

Employment, in a narrow sense, refers to a situation in which -——-— -
1) people work in collective enterprises

2) family members work with what belongs to them

3) workers work together with equipment which belongs to them

4) workers work together with materials which do not belong to them

Employment will give the worker -----—---- if it is -,

1) wages, inventive 2) self-esteem, vigorous

3) income, constructive 4) social-esteem, fabricative

An economy has no problem if -—------- :

1) production is low 2) incomes are low

3) workers enjoy self-esteem 4) people are deprived of the recognition

The Keynesian notion of 'full employment' in a labour market is that the effective demand for
labour is at a level where productive capacity is fully utilized and unemployment is at a minimum.
This minimum consists of at least one element, 'frictional unemployment’, people spending a
relatively short time finding a suitable job where labour market information is, perhaps inevitably,
not good enough to match all vacancies and job seekers instantaneously. Under some
circumstances, keeping employment at this frictional minimum would satisfy another definition of
full employment as that level of demand for labour which does not aggravate inflation. This level of
employment will, however, only ensure maximal utilization of the labour force if there is enough
material capital to equip each job. Ideally, capital would accumulate embodying techniques (capital:
labour ratios) which utilize available labour resources. But in the short run the stock of capital is
fixed, and often the techniques by which it can be operated are also virtually fixed. This sets an
upper limit to the amount of labour an economy can absorb in the short run. If available labour
supplies exceed this limit there is said to be 'structural' unemployment, as it could only be
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eliminated by changes in the structure or size of the capital stock. 'Structural unemployment' also
arises when the quality of labour required differs from the quality of the labour on offer in respects
such as skill, education or location.

In economies not dominated by the simplified sort of labour market postulated above,
underemployment (or the underutilization of labour) and its attendant problems need not take the
form of 'open unemployment'. Indeed, unless there are institutions (such as social insurance or the

family) which transfer resources to the jobless, open unemployment is a luxury which few can
afford.

Full employment is when —--—-—-- :

1) productive capacity is not fully used. 2) employment is at a minimum.

3) unemployment is at a maximum. 4) productive capability is fully used
What does 'instantaneously' mean in line 5?

1) eventually 2) immediately 3) subsequently 4) ultimately
Unemployment is at a minimum when --------- -

1) people spend a short time to get a job

2) labour market is good enough to match job seekers.

3) labour market is good enough to maich job vacancies

4) people spend a short time to get information on job vacancies.
According to the passage, the maximal use of work force is guaranteed only if —--—-—-.
1) we balance materials with jobs.

2) we balance equipment with jobs.

3) there is enough material to provide for each job.

4) there is enough equipment to provide for each job

Open unemployment is a luxury which few can afford if ---—-—---- .
1) there is not labour market

2) there is labour market

3) there are organizations which give resources to the jobless.

4) there are not organizations which give resources to the jobless

Monetary policy can be broadly construed to include virtually all aspects of a country's monetary
and financial system, or much more narrowly, taking the institutional background as given. Taking
the broader perspective first establishes a rationale for monetary policy.

The central question of monetary policy used to be that of the monetary standard- the choice of
the monetary metal and the metallic content of the coinage. The purpose of policy was to establish
stability and uniformity of the coinage and thus inspire confidence in it and gain general
acceptability for it, to the benefit of sovereign and state.

Although obscured by the enormous institutional changes that have taken place, the maintenance
of confidence in money and monetary institutions is still the main purpose of monetary policy.
Hence the concern, at various points in history, with the maintenance of convertibility (into gold
domestically and gold or a 'key currency’ internationally), the prevention of 'over-issue' of credit,
the avoidance of financial crises and banking panics, and the stability of the price level

Though monetary policy in the broadest sense is a government matter, many issues of policy and
virtually all responsibility for implementation rest with central banks (for example, the Bank of
England, the Federal Reserve System). Since 1946, most western governments have accepted some
responsibility for their country's economic performance, and monetary policy became a tool of
'stabilization policy': the promotion of economic growth without severe recession or inflation. Price
stability and a 'healthy' balance of payments remained important as contributions to this end. Until
the 1970s it was accepted that the burden of stabilization policy should fall on fiscal policy,
monetary policy playing a subordinate role. The interrelation between monetary and fiscal policy is
now better appreciated.

26- What does the passage mainly discuss?

1) coinage 2) monetary policy 3) monetary system 4) all of them

27- What does 'rationale' refer to in line 3?

1) basis 2) logical 3) realistic 4) theory
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28- Which of the following is not regarded among the main goals of monetary policy?
1) to win public acceptability for monetary policy
2) to benefit from the sovereign and the state
3) to establish stability and uniformity of the coinage
4) to motivate trust in the monetary system

29- According to the passage, no effort is made -- nowadays.
1) to stabilize the price level 2) to maintain convertibility
3) to keep banking panics 4) to avoid financial crisis

30- The author finally concludes that ——-——-—-.
1) there should be an interrelation between monetary and financial policy

2) the burden of stabilization policy should fall on fiscal policy
3) the monetary policy should play a subordinate role
4) there should be price stability and a healthy balance of payments.
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